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Tom ran. == =R 14 XtSAL
Tom ran mad. E2 n|xct 23 Al AZAZA}
Tom ran a company. £2 3|AIE 293t 3SAl EFSA}
Tom is running. E2o g Qlr} SAXHZISH SATHEA}
The company is run by Tom. 1 S|Al= £0f ool 2 =ICt 2Ef| 2 HEA}
He is my running mate in the election. = MANIA L2 2{L!H|0|EO|L}, SATHEAl SHEA}
My plan is to run on the track. Lj A&l Eal 9= cha|= ZHQIL|C}, To AL =4
Running is my hobby. =2|7|= Hl F0|LCt, SBA =
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[FUHSAE 2A]
[FEZZER]
[Z=0 2] Children dealing with
[EHAIA aw the man who clo
H&AH e has been working s
[E&A egrewuptobeab
[EEM]

[EAH ad my car repaired.

Grammar & Writing

[—~=E] Alletter is written by

[FFE ] i1 had enough apple
[H| 2] A dog runs as fast as 4

[LRE A Don't judge a book by

[EEALSA

T E S A W, - My skin feels itchy.

B (N} BRPRHD. - it feels slicky.

[SAH] Those earrings match

[ZIEE] lfm sorry to hear that.
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